THE PRINCIPLE OF  wonc
THE TRIGONOMETER

Illustrations taken from the Treatise On The
Use Of The Trigonometer,

DANFRIE Philippe (1532-1606)

Made his debut as a printer and

neW/y invented and brought to /ight by then as bookseller in Paris.
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General of the French mint and an
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inventor of mathematical

instruments, including the

graphometer, for which he
published the Statement Of Use in
1597.
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To more easily give an understanding of this

instrument called the Trigonometer, I represent and
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illustrate the parts of which it is composed, both

separate and conjoined, specifying each with its own :
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name, illustrating them, in their turn and place, with a
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diagram. It is called a Trigonometer because, in all its

operations, it always keeps a triangular shape, whose
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three sides are measured out in equal parts.
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The trigonometer consists of a foot and three graduated rulers. The
first ruler is fixed at the foot. The second slides and pivots on the first
ruler. The last ruler only rotates. Aiming is done with the sights fixed

to the rulers.

The use of the trigonometer requires knowledge of some length AB,

on the ground.
We wish to find the distance from A to C.

The observer places themselves at A with the trigonometer, aims at
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point C with ruler 3 and then locks it to prevent it rotating. He then
moves to B, aims at point C with ruler 2 and locks it to prevent it
rotating. He then slides ruler 2 (the sliding part) so that rulers 2 and 3

intersect on a graduation.

The straight lines (BC) and (DE) being
parallel, the triangles (ABC) and (ADE) are

similar and we have:

AD AE
AB AC

We deduce thus AC from this.
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